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Solving with Parenthesis

Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

7x(27+9)

21+ (55+12)

(6x2)+5

(24+6) x5

(64-13)-47

22-(80+10)

782- (5% 2)

(2+2)x7

(57+15)=+2

(5x4)+9

(6%x6)+59

(27-3)+9

(59+13) - 10

(30+8)+84

5x(2+5)

(79-39) x5

(36+9)-2

(91-74)+23

(8x8)x5

802- (16-9)

10.
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20.
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Solving with Parenthesis Name: Answer Key
Solve each problem. Answers
7x(27+9) 7x(3)=21
1 21
21+ (55+12) 21+ (67)=88
2. 88
(6x2)+5 (12)+5=2r2
3 212
(24+6)%x5 (4)x5=20
4 20
(64-13)-47 (51)-47=4
5. 4
22-(80+10) 22-(8)=14
6. 14
782-(5%x2) 782-(10)=772
7. 772
(2+2)x7 (4)x7=28
8. 28
(57+15)+2 (72)+2=3610
9. 36r0
(5x4)=+9 (20)+9=2r2
10. 212
(6x6)+59 (36)+59=95
1. 95
(27-3)+9 (24)+9=2r6
12. 216
(59+13)-10 (72)-10=62
13, 62
(30+8)+84 (38)+84=122
w122
5x(2+5) 5x(7)=35
15. 35
(79-39)x5 (40)x5=200
16. 200
(36+9)-2 (4)-2=2
17. 2
(91-74)+23 (17)+23=40
18. 40
(8x8)x5 (64)x5=320
10. 320
802-(16-9) 802-(7)=795
20. 795
1-10 | 95|90 85| 80| 75| 70| 65| 60 | 55 | 50
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